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CNN (Convolutional Neural Network) RNN (Recurrent Neural Network)
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import tensorflow as tf

from tensorflow.keras import layers, models
from tensorflow.keras.datasets import mnist
import matplotlib.pyplot as plt

# Load MNIST dataset
(X_train, y_train), (X_test, y_test) = mnist.load_data()

# Normalize the data
X_train = X_train / 255.0
X_test = X_test / 255.0

# Reshape for the model
X_train = X_train.reshape(-1, 28, 28, 1)
X_test = X_test.reshape(-1, 28, 28, 1)

# Build a simple CNN model
model = models.Sequential([

layers.Conv2D(32, kernel_size=(3, 3), activation="relu’, input_shape=(28,
28, 1)),

layers.MaxPooling2D(pool_size=(2, 2)),

layers.Flatten(),
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import tensorflow as tf

from tensorflow.keras import layers, models
from tensorflow.keras.datasets import cifar10
import matplotlib.pyplot as plt

# Load CIFAR-10 dataset
(X_train, y_train), (X_test, y_test) = cifar10.load_data()

# Normalize the data
X_train = X_train / 255.0
X_test = X_test / 255.0

# Build a simple CNN model
model = models.Sequential([

layers.Conv2D(32, kernel_size=(3, 3), activation="relu’, input_shape=(32,

32, 3)),

layers.MaxPooling2D(pool_size=(2, 2)),
layers.Flatten(),

layers.Dense(128, activation='relu’),
layers.Dense(10, activation='softmax')

)
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from sklearn.feature_extraction.text import CountVectorizer
from sklearn.model_selection import train_test_split

from sklearn.naive_bayes import MultinomialNB

from sklearn.metrics import accuracy_score

# Sample data

texts = |
"I love this product”, "This is the worst experience",
"Amazing quality!”, "Not worth the money", "Best purchase ever!",
"Terrible service", "Very satisfied", "Would not recommend",
"Absolutely fantastic", "Horrible experience"

]
labels=1[1,0,1,0,1,0,1,0, 1, 0] #1 = Positive, 0 = Negative

# Convert text to feature vectors
vectorizer = CountVectorizer()
X = vectorizer.fit_transform(texts)

# Train-test split

X_train, X_test, y_train, y_test = train_test_split(X, labels, test_size=0.3,
random_state=42)
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